
4 5 6

321

Assembly Instructions
Swell

IN THE BOX

©Compulocks Brands Inc. All Rights Reserved.j www.compulocks.com | online@maclocks.com | +1 800-948-0344 Sheet 1 of 1

Mounting options Or
WALL

FOLLOW STAND
MOUNTING INSTRUCTIONS
(SUPPLIED WITH STANDS)

Torx Screwdriver M3x10mm tamper proof screws Swell enclosure

WALL MOUNTING
(SCREWS NOT PROVIDED)

Secure with
 M3 screws (provided)



Hinge Adjustment

                      
Assembly Instructions
  Swing Arm SKU: 827B

Sheet 1 of 2www.compulocks.com | online@maclocks.com | +1 800-948-0344 ©Compulocks Brands Inc. All Rights Reserved.j 

LOVE IT LOCK IT

Wall Mounting - Wood Stud Wood Stud Istallation

2.75”
69.85mm

DRILL 2 Holes 
.157” X 2 1/2” DEEP
M4 X 63.5mm DEEP
CENTERED ON STUD

INSTALL SCREWS PROVIDED
#14 X 2 1/2” PHILIPS PAN HEAD
SHEETMETAL SCREW, 2 PLACES

STEP 1
ADJUST LARGE HINGE SCREW
TO DESIRED TENSION OF ARM 
WITH WRENCH PROVIDED

STEP 2
AFTER CORRECT TENSION IS ACHIEVED

TIGHTEN SET SCREW
WITH WRENCH PROVIDED 
DO NOT OVER TIGHTEN

STEP 1
ADJUST LARGE HINGE SCREW
TO DESIRED TENSION OF ARM
WITH WRENCH PROVIDED

STEP 2
AFTER CORRECT TENSION IS ACHIEVED

TIGHTEN SET SCREW
WITH WRENCH PROVIDED
DO NOT OVER TIGHTEN



Installation Complete Monitor Mounting

                      
Assembly Instructions
  Swing Arm SKU: 827B

Sheet 2 of 2www.compulocks.com | online@maclocks.com | +1 800-948-0344 ©Compulocks Brands Inc. All Rights Reserved.j 

LOVE IT LOCK IT

Tilt Adjustment Enclosure Installation
ADJUST TILT TENSION SCREW
TO DESIRED TENSION

WITH WRENCH PROVIDED
USE M4 X 8mm SCREWS PROVIDED

TO INSTALL ENCLOSURE

IF MOUNTING A MONITOR
REMOVE M4 PRESS IN NUTS

HARDWARE FOR MOUNTING THE MONITOR
IS NOT INCLUDED


	Swell Instruction  (1)
	Swing Arm instructions Combined (5)

